Validate Print Help Percentage BoQ								
Tender Inviting Authority: P E Civil, Karo OCP (BnK) Area								
Name of Work: Provision of 02 nos of view point at Karo Mines under karo OCP of BnK Area.								
	Category of Services (To Be Selected by Department)	Category of Bidder( To Be Selected by Bidder)	To Be Entered by Department					
ITC Available	Works Contract	Bidder's Status (Mandatory)	Rate of GST (in %)	GST to be Paid By Bidder (in Rs.)	GST to be Paid By CIL/Subsidiary (in Rs.)			

Select

18.00

0.00

0.00

Name of the Bidder/ Bidding Firm / Company :

PRICE SCHEDULE

(This BOQ template must not be modified/replaced by the bidder and the same should be uploaded after filling the relevent columns, else the bidder is liable to be rejected for this tender. Bidders are allowed to enter the Bidder Name and Values only)

NUMBER #	TEXT #	NUMBER #	TEXT #	NUMBER	NUMBER#	TEXT #
SI. No.	Item Description	Quantity	Units	Estimated Rate in	TOTAL AMOUNT in	TOTAL AMOUNT In Words
NO.				Rs. P	Rs. P	
1	2	3	4	5	6	7
1	(Part-A)Earth work in excavation by mechanical means (Hydraulic excavator)/manual means over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 sqm on plan) including getting out and disposal of excavated earth lead upto 50 m and for all lift, as directed by Engineer-incharge.All kinds of soil	13.50	cum	128.05	1728.68	INR One Thousand Seven Hundred & Twenty Eight and Paise Sixty Eight Only
2	Supplying and filling in plinth with sand under floors, including watering, ramming, consolidating and dressing complete.	2.520	cum	1844.00	4646.88	INR Four Thousand Six Hundred & Forty Six and Paise Eighty Eight Only
3	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level : 1:3:6 (1cement : 3 coarse sand : 6 graded stone aggregate 20 mm nominal size)	4.220	cum	5916.00	24965.52	INR Twenty Four Thousand Nine Hundred & Sixty Five and Paise Fifty Two Only
4	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in foundation and plinth in:Cement mortar 1:6 (1 cement : 6 coarse sand)	10.340	cum	5322.15	55031.03	INR Fifty Five Thousand &Thirty One and Paise Three Only
5	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in superstructure above plinth level up to floor V level in all shapes and sizes in : Cement mortar 1:6(1 cement: 6 coarse sand)	15.180	cum	6494.75	98590.31	INR Ninety Eight Thousand Five Hundred & Ninety and Paise Thirty Only
6	Providing and fixing M.S. grills of required pattern in frames of windows etc. with M.S. flats, square or round bars etc. including priming coat with approved steel primer all complete.Fixed to steel windows by welding	27	Kg	145.6	3931.20	INR Three Thousand Nine Hundred & Thirty One and Paise Twenty Only

7	Providing and fxing aluminium work for doors, windows, ventilators and partitions with extruded built up standard tubular sections/ appropriate Z sections and other sections of approved make conforming to IS: 733 and IS: 1285, fixing with dash fasteners of required dia and size, including necessary filling up the gaps at junctions, i.e. at top, bottom and sides with required EPDM rubber/ neoprene gasket etc. Aluminium sections shall be smooth, rust free, straight, mitred and jointed mechanically wherever required including cleat angle, Aluminium snap beading for glazing I paneling, C.P. brass / stainless steel screws, all complete as per architectural drawings and the directions of Engineer-in-charge. (Glazing, paneling and dash fasteners to be paid for separately): For fixed portion Anodised aluminium (anodised transparent or dyed to required shade according to IS: 1868, Minimum anodic coating of grade AC 15)	122.42	Kg	367.10	44940.38	INR Forty Four Thousand Nine Hundred & Forty and Paise Thirty Eight Only
8	Providing and fxing aluminium work for doors, windows, ventilators and partitions with extruded built up standard tubular sections/ appropriate Z sections and other sections of approved make conforming to 1S: 733 and IS: 1285, fixing with dash fasteners of required dia and size, including necessary filling up the gaps at junctions, i.e. at top, bottom and sides with required EPDM rubber/ neoprene gasket etc. Aluminium sections shall be smooth, rust free, straight, mitred and jointed mechanically wherever required including cleat angle, Aluminium snap beading for glazing I paneling, C.P. brass / stainless steel screws, all complete as per architectural drawings and the directions of Engineer-in-charge. (Glazing, paneling and dash fasteners to be paid for separately): For shutters of doors, windows & ventilators including providing and fxing hinges/ pivots and making provision for fixing of fittings wherever required including the cost of EPDM rubber / neoprene gasket required  (Fittings shall be paid for separately) Anodised aluminium (anodised transparent or dyed to required shade according to IS: 1868, Minimum anodic coating of grade AC 15)	108.00	Kg	434.00	46872.00	INR Forty Six Thousand Eight Hundred & Seventy Two Only
9	Providing and fixing glazing in aluminium door, window, ventilator shutters and partitions etc. with EPDM rubber / neoprene gasket etc. complete as per the architectural drawings and the directions of engineer-in-charge . (Cost of aluminium snap beading shall be paid in basic item):With float glass panes of 4.0 mm thickness (weight not less than 10kg/sqm)	27.00	Sqm	824.65	22265.55	INR Twenty Two Thousand Two Hundred & Sixty Five and Palse Fifty Five Only
10	Providing and fixing 12 mm thick prelaminated particle board flat pressed three layer or graded wood particle board conforming to IS: 12823 Grade I Type II, in panelling fixed in aluminum doors, windows shutters and partition frames with C.P. brass / stainless steel screws etc. complete as per architectural drawings and directions of engineer-in-charge.Pre-laminated particle board with decorative lamination on one side and balancing lamination on other side	3.42	Sqm	801.90	2742.50	INR Two Thousand Seven Hundred & Forty Two and Paise Fifty Only
11	Structural steel work riveted, bolted or welded in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.	129.60	Kg	92.55	11994.48	INR Eleven Thousand Nine Hundred & Ninety Four and Paise Forty Eight Only
12	Providing and fixing precoated galvanised iron profile sheets (size, shape and pitch of corrugation as approved by Engineer-in-Charge) of total coated thickness 0.50mm (base metal of minimum 0.45mm thickness with total coating thickness of 0.05mm) with zinc coating 120 grams per sqm as per IS: 277, in 240 mpa steel grade, 5-7 microns epoxy primer on both side of the sheet and polyester top coat 15-18 microns. Sheet should have protective guard film of 25 microns minimum to avoid scratches during transportation and should be supplied in single length upto 12 metre or as desired by Engineer-in- charge. The sheet shall be fixed using self drilling /self tapping screws of size (5.5x 55 mm) with EPDM seal, complete upto any pitch in horizontal/ vertical or curved surfaces, excluding the cost of purlins, rafters and trusses and including cutting to size and shape wherever required.	51.420	sqm	571.00	29360.82	INR Twenty Nine Thousand Three Hundred & Sixty and Paise Eighty Two Only

	Providing and laying vitrified floor tiles in different sizes (thickness to be specified by the manufacturer) with water absorption less than 0.08% and conforming to IS: 15622, of approved make, in all colours and shades, laid on	00.00				INR Forty Three Thousand Six Hundred & Twenty
13	20mm thick cement mortar 1:4 (1 cement : 4 coarse sand), jointing with grey cement slurry @ 3.3 kg/ sqm including grouting the joints with white cement and matching pigments etc., complete.Size of Tile 600x600 mm	36.96	Sqm	1180.4	43627.58	Seven and Paise Fifty Eight Only
14	12 mm cement plaster of mix :1:6 (1 cement: 6 fine sand)	179.20	Sqm	217.70	39011.84	INR Thirty Nine Thousand &Eleven and Paise Eighty Four Only
15	Reinforced cement concrete work in beams, suspended foors, roofs having slope up to 15* landings, balconies, shelves, chajjas, lintels, bands, plain window sills, staircases and spiral stair cases above plinth level up to foor five level, excluding the cost of centering, shuttering, finishing and reinforcement with 1:1.5:3 (1 cement: 1.5 coarse sand(zone-III) derived from natural sources: 3 graded stone aggregate 20 mm nominal size derived from natural sources).	4.52	cum	8797.65	39765.38	INR Thirty Nine Thousand Seven Hundred & Sixty Five and Paise Thirty Eight Only
16	Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete upto plinth level.  Thermo-Mechanically Treated bars of grade Fe-500D or more.	4.52	Kg	75.85	342.84	INR Three Hundred & Forty Two and Paise Eighty Four Only
17	Centering and shuttering including strutting, propping etc. and removal of form for Lintels, beams, plinth beams, girders, bressumers and cantilevers	51.00	Sqm	470.70	24005.70	INR Twenty Four Thousand &Five and Paise Seventy Only
18	Providing and applying plaster of paris putty of 2 mm thickness over plastered surface to prepare the surface even and smooth complete.	179.20	Sqm	167.75	30060.80	INR Thirty Thousand &Sixty and Paise Eighty Only
19	Finishing with Deluxe Multi surface paint system for interiors and exteriors using Primer as per manufacturers specifications :Two or more coats applied on walls @ 1.25 ltr/10 sqm over and including one coat of Special primer applied @ 0.75 ltr/10 sqm	179.20	Sqm	125.85	22552.32	INR Twenty Two Thousand Five Hundred & Fifty Two and Paise Thirty Two Only
20	frame work made of special sections, power pressed from M.S. sheets and galvanized with zinc coating of 120 gms/sqm (both side inclusive) as per IS: 277 and consisting of angle cleats of size 25 mm wide x 1.6 mm thick with flanges of 27 mm and 37mm, at 1200 mm centre to centre, one flange fixed to the ceiling with dash fastener 12.5 mm dia x 50mm long with 6mm dia bolts, other flange of cleat fixed to the angle hangers of 25x10x0.50 mm of required length with nuts & bolts of required size and other end of angle hanger fixed with intermediate G.I. channels 45x15x0.9 mm running at the spacing of 1200 mm centre to centre, to which the ceiling section 0.5 mm thick bottom wedge of 80 mm with tapered flanges of 26 mm each having lips of 10.5 mm, at 450 mm centre to centre, shall be fixed in a direction perpendicular to G.I. intermediate channel with connecting clips made out of 2.64 mm dia x 230 mm long G.I. wire at every junction, including fixing perimeter channels 0.5 mm thick 27 mm high having flanges of 20 mm and 30 mm long, the perimeter of ceiling fixed to wall/partition with the help of rawl plugs at 450 mm centre, with 25mm long dry wall screws @ 230 mm interval, including fixing of gypsum board to ceiling section and perimeter channel with the help of dry wall screws of size 3.5 x 25 mm at 230 mm c/c, including jointing and finishing to a flush finish of tapered and square edges of the board with recommended jointing compound, jointing tapes, finishing with jointing compound in 3 layers covering upto 150 mm on both sides of joint and two coats of primer suitable for board, all as per manufacturer's specification and also including the cost of making openings for light fittings, grills, diffusers, cutouts made with frame of perimeter channels suitably fixed, all complete as per drawings, specification and direction of the Engineer in Charge but excluding the cost of painting with :12.5 mm thick tapered edge gypsum plain board conforming to IS: 2095-	32.46	Sqm	903.65	29332.48	INR Twenty Nine Thousand Three Hundred & Thirty Two and Paise Forty Eight Only

Quoted Rate in Words					INR Zero Only	
Quoted Rate in Figures			Select		0.00	INR Zero Only
Total in Figures					718516.84	INR Seven Lakh Eighteen Thousand Five Hundred & Sixteen and Paise Eighty Four Only
31	Total impact of GST for the purpose of CTC	1.000	Nos	0.00	0.00	INR Zero Only
30	Providing and laying 60mm thick faciory made cement concreteinterlocking paver block of M -30 grade made by block makingmachine with strong vibratory compaction, of approved size, design& shape, laid in required colour and pattern over and including 50mmthick compacted bed of coarse sand, filling the joints with line sandetc. all complete as per the direction of Engineer-in-charge.	90.60	Sqm	752.85	68208.21	INR Sixty Eight Thousand Two Hundred & Eight and Paise Twenty One Only
29	Providing and fixing hand rail of approved size by welding etc. to steel ladder railing, balcony railing, staircase railing and similar works, including applying priming coat of approved steel primer.E.R.W. tubes	158.400	Kg	121.45	19237.68	INR Nineteen Thousand Two Hundred & Thirty Seven and Paise Sixty Eight Only
28	12 mm cement plaster finished with a floating coat of neat cement of mix : 1:4 (1 cement: 4 fine sand)	21.60	Sqm	284.75	6150.60	INR Six Thousand One Hundred & Fifty and Paise Sixty Only
27	Half brick masonry with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in foundations and plinth in : cement mortar 1:4 (1 cement : 4 coarse sand)	21.60	Sqm	673.45	14546.52	INR Fourteen Thousand Five Hundred & Forty Six and Paise Fifty Two Only
26	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level :1:2:4 (1 cement : 2 coarse sand (zone-III) derived from natural sources : 4 graded stone aggregate 20 mm nominal size derived from natural sources)	4.760	cum	6490.90	30896.68	INR Thirty Thousand Eight Hundred & Ninety Six and Paise Sixty Eight Only
25	(Part-B)Earth work in excavation by mechanical means (Hydraulic excavator)/manual means over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 sqm on plan) including getting out and disposal of excavated earth lead upto 50 m and for all lift, as directed by Engineer-incharge.All kinds of soil	8.48	cum	128.05	1085.86	INR One Thousand &Eighty Five and Paise Eighty Six Only
24	Providing and fixing ISI marked oxidised M.S. tower bolt black finish, (Barrel type) with necessary screws etc. complete: (copper oxidized as per IS: 1378) 100x10 mm	4.00	Nos	33.00	132.00	INR One Hundred & Thirty Two Only
23	Providing and fixing ISI marked oxidised M.S. handles conforming to IS:4992 with necessary screws etc. complete : (copper oxidized as per IS: 1378) 125 mm	4.00	Nos	29.85	119.40	INR One Hundred & Nineteen and Paise Forty Only
22	Providing and fixing ISI marked oxidised M.S. sliding door bolts with nuts and screws etc. complete : (copper oxidized as per IS: 1378) 300x16 mm	4.00	Nos	153.75	615.00	INR Six Hundred & Fifteen Only
21	Providing and fixing aluminium die cast body tubular type universal hydraulic door closer (having brand logo with ISI, IS : 3564, embossed on the body, door weight upto 35 kg and door width upto 700 mm), with necessary accessories and screws etc. complete.	2.00	Nos	878.30	1756.60	INR One Thousand Seven Hundred & Fifty Six and Paise Sixty Only